 SEQ CHAPTER \h \r 1t-test practice

1. You decide to hold a class to influence how well older folks use their cell phones. You enroll 16 people, and after the class, measure how long it takes them to attach a picture to an email and send it. You compare this to a group of older folks who didn’t take your class (your control group). 
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What question does your test answer?

Calculate your t statistic and your probability of getting it by chance.
What do you do about your null?
What does this mean about your sample means?
Your population means?
Describe the error you might be making.
2. Students think re-reading their notes is a good way to study. You want them to add outlining to increase their scores, so you show them 
how to do it correctly. 
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Calculate your t statistic and your probability of getting it by chance.

What do you decide about your Null Hypothesis?


What does this decision mean about your sample mean diffs?


What does this decision tell you about your population means?


Why did you use N-2 to calculate your degrees of freedom in this problem?

Answers:

1.  H0  = Cell phone class does not influence emailing time (Differences are chance; The population means are the same)

     HA = Cell phone class does influence emailing time
      t (14) = 1.68, probability by chance = 11.51%
      11.51% > 5%, Retain H0  

The sample means are prob diff because of chance.


The pop means are prob not diff.

      A Type 2 error would be that the class really did work.

2.  H0   = Adding outlining has no effect on quiz scores (Differences are chance, The population means are the same)
      HA = Adding outlining increases quiz scores
      t (16) = 2.35, probability by chance = 1.60%

      1.60% <  5%, Reject H0  

Samples means are prob diff because of outlining

The population mean quiz scores for re-reading and re-reading plus outlining are probably different. 

       Because you estimated two population standard errors.       

